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X Y 

1 521336,62 2200241,98 

2 521306,88 2200239,69 

3 521395,27 2200611,39 

4 521626,35 2200631,58 

5 521620,21 2200607,37 

   

6 521642,34 2200633,61 

7 521950,98 2200672,83 

   

8 521263,73 2200231,16 

9 521363,03 2200648,73 

10 521622,87 2200671,42 

11 521637,29 2200673,29 

12 521953,45 2200713,46 

13 522042,93 2200696,36 

14 522049,41 2200708,04 
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22 522076,84 2200808,88 
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24 522096,97 2200834,54 
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31 522401,09 2201448,08 

32 522438,66 2201536,62 
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34 522509,43 2201768,12 

35 522533,49 2201815,51 
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